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SSC Concept Based TestConcept Based 

Reasoning 

fn;s Xk;s iz’ui= dks /;kuiwoZd if<, rFkk fn;s x;s Ikz’uksa ds mRrj nhft, tks iz’u u vkrk gks ml ij le; O;FkZ u djsa  

1-15: Find the missing number/figure from the given responses.  

fn;s Xk;s iz’uksa esa yqIr la[;k@rLohj Kkr djksa 

1.  

 

(a) 860 (b) 1140 (c) 2880 (d)3240  

2.  

 

(a) 15 (b) 18 (c) 17 (d) 16  

3.  

 

(a) 23 (b) 19 (c) 20 (d) 22  

4. 

 

 (a)12 (b) 21 (c) 24 (d) 35  

5.  

 

(a) 223 (b) 224 (c) 225 (d) 227  

6.  

 

(a) 11 (b) 25 (c) 10 (d) 27  

7. 
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(a) 20 (b)  16 (c) 12 (d) 18  

8.  

9 13 7 

12 2 9 

13 5 ? 

1404 30 504 

(a)5 (b) 8 (c) 15 (d) 56 

9.  

 

(a)190 (b) 255 (c) 221 (d) 236  

10. 

 

 (a)62 (b) 37 (c) 73 (d) 19  

11.  

 

(a) 7 (b) 6 (c) 4 (d)5  

12.  

 

(a)35 (b)  32 (c) 22 (d) 19  

13. 



 A PREMIER INSTITUTE FOR BANK PO/SSC/MCA/MBA-CAT ENTRANCE ACADEMY       

 3  

 

 (a) 04 (b) 01 (c) 02 (d) 03  

14.  

 

(a) 6 (b) 9 (c) 12 (d) 18  

15.  

7
40

4
 

(a)60(b)62 (c) 64 (d) 66  

16.If  A= 1, FAT= 27, then FAITH= ? 

 (a) 44  (b) 42 (c) 41 (d) 40  

17. If ‘PAPER’ is written as ‘OZODQ’ how ‘PENCIL’ can be written in that code? 

 (a) QFODJM (B) OFOBHM (C) ODMDJM  (D) ODMBHK 

18. ADBC : WZXY : : EHFG : ? 

 (a) STUV (B)  TUSV (C) STVU (D) SVTU 

19. JLNP : OMKI : : SUWY : ? 

(A) MLKJ (B) PLHD (C) XVTR (D) FGHI 

20. In a coding system PEN is written as NZO and BARK as CTSL. How can we wirte PRANK in that coding system? 

 ,d dksfMax flLVe esa PEN  dks NZO  fy[kk tkrk gS vkSj BARK  dks CTSL rc bl dksfMax esa PRANK  dks dSls fy[kk tk;sxk 

 (a) NZTOL (b) CSTZN (c) NSTOL  (d) NTSLO 

21.If BROTHER is coded as 2456784. SISTER is coded as 919684, what is the code for ROBBERS ? 

 ;fn BROTHER  dks dksfMr fd;k tkrk gS 2456784 rFkk SISTER  dks dksM 919684] rc ROBBERS  dk dksM gksxk  

 (a) 18, 15, 22, 5, 18, 19  

 (b) 4563 684 

 (c) 9245  784  

(d) 4522849 

22. A  word given in capital letters is followed by four answer words. Out of these only one can be formed by using the letters of the 
given words. Find out that word. 

ENVIRONMENT 

fn;s x, fodYiksa esa ls og “kCn pqfu, tks fn;s x;s v{kjksa dk iz;ksx djds cuk;k tk ldrk gS 

ENVIRONMENT 

 (a) ENIMENT  (b) ENTRANCE  

 (c) ENTERTAIN (d) MOVEMENT 

23. From the given alternative words, select the word which cannot be formed using the letters of given word. 

 PERSIDENTIAL 

 (a)SLEEP (b) DENTAL (c) ARDENT (d) DIGITAL 

24. BJNT : CIOS : : DHPV : ? 

 (A) EGQU (B) EIQW (C) ELPV (D) EIOU 

25. KIJM : QOPS : : MKLO : ? 

 (A) LMOR (B) OMNS (C) KMOQ (D) OMNQ 

26. In a certain language, BUTTER is coded as CVUUFS, BREAD is coded as CSFBE, then how COFFEE is coded? 

 fdlh dksM Hkk"kk esa BUTTER  dks CVUUFS  rFkk BREAD  dks CSFBE,  rc COFFEE  dk dksM gksxk  ” 

 (a) DPGGFF (B) GGDPFF (C) GDPGFF (D) FFDPGG 

27. If CLOUD can be coded as 59432 and RAIN as 1678, how can AROUND be coded? 

 (a) 614832 (b) 614382 (c) 641382 (d) 461382 

28. In question, a word given in capital letters is followed by four answer words. Out of these only one cannot be formed by using 

the letters of the given words. Find out that word.  

 CONSTRUCTION 

 fn;s x, fodYiksa esa ls og “kCn pqfu, tks fn;s x, “kCn ds v{kjksa dk iz;ksx djds ugha cuk;k tk ldrk 

 CONSTRUCTION 
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 (a)NOTION   (b) CAUTION  

 (C) COINS   (D) SUCTION 

29. If  E=5, RED = 27, then DANCE =? 

 (a) 26 (b) 28 (c) 27 (d) 25 

30. If the word ‘EARTH’ be written as ‘QPMZS’ in coded words , how can ‘HEART’ be written following the same coding? 

 ;fn fdlh dksM Hkk’kk easa EARTH  dks QPMZS  fy[kk tkrk gS rc HEART  dks blh dksM Hkk’kk esa fy[kk tk;sxk  

 (a) SQMPZ (B) SQPZM (C) SQPMZ (D) SPQZM 

31. If  ‘BE QUICK’ is coded as ‘ZCOSGAI’ then the code of last letter of third word in the sentence ‘I LOVE MY COUNTRY’ is?  

 (a) W (b) U (c) T  (d) A 

32. If CONSCIOUSLY is written as PEBNPJEXNKM, then SOIL is written as ? 

 ;fn CONSCIOUSLYdks PEBNPJEXNKM,  fy[kk tkrk gS rks SOIL  dks fy[kk tk;sxk   

 (A) NEKJ (B) NEJA (C) JENK (D) ENJK 

33. If  Z= 26, NET= 39 , then NUT =? 

 (a) 50 (b) 53 (c) 55 (d) 56 

34. If the letters in PRABA are coded as 27595 and THILAK are coded as 368451, how can BHARATI  be coded? 

 ;fn PRABA dks dksfMr fd;k tkrk gS 27595 vkSj THILAK  dks 368451 rks BHARTI  dks dksfMr fd;k tk;sxk   

 (a) 9657533 (b) 9567538 (c) 9675538 (d) 9567568 

35. If in a code language PARENT  is written as  BDFGJK and CHILDREN is written as MOXQUFGJ, how is REPRINT written in that 

code? 

 ;fn fdlh dksM Hkk’kk esa PARENTdks BDFGJK  vkSj CHILDREN  dks MOXQUFGJ ] rc REPRINT   dks dSls fy[kk tk;sxk   

 (A) FGBFXGD (B) BGBFXJK   (C) FGBUXJK (D) FGBFXJK 

36. If  A= 1, B = 2, C=3,……… Z = 26 and the code for  CONSTABLE is 91, then what will be the code of STABLE? 

 ;fn A 1,B 2,C 3,....Z 26     vkSj CONSTABLE  dks dksM 91 gS] rc STABLE  dk dksM gksxk  

 (a) 97 (b) 59 (c) 79 (d) 75 

37. If in a code language ‘BODY is written as ‘APCZ’ then how will ‘DELHI’ be written in the same language ? 

 fdlh dksM Hkk’kk esa BODY  dks APCZ  fy[kk tkrk gS rc DELHI   dks blh dksM Hkk’kk esa dSls fy[kk tk;sxk  
 (A) CFKGI (B) BFKGI (C) CFKIH (D) CFKH 

 

 


